
Controller Option (D556/...)
 



 

 
 

 

  1.Controller Option 1 (D556/..) ...............................   2 

  2.Controller Option 2 (D556/..) ...............................   4 

 Parts Index .............................................................   8 

Controller Option (D556/...) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

 

February 21, 2011 



2 

 

1.Controller Option 1 (D556/..) 

101

17
101

USB2.0/SD Slot Type G  (D566-16)IPDS Unit Type C2551 (D556-12/13/14)

18

102

105

11

12

14

8

2

6

10

101

13

3

101

15
103

104

9

4

7

5

16

1

19



3 

 1 D556 5012  SD-Card:IPDS:Di-C1.5:EXP:Ass'y 1 

 2 D422 1264  Lens:SD/USB 1 

 3 D422 1265  Shielding Plate:LED 1 

 4 D422 1267  Bracket:PCB:Ass'y 1 

 5 D422 1275  Case:SD/USB:EXP:Ass'y 1 

 6 D422 1277  Panel:USB:EXP 1 

 7 D422 1278  Cover:Guard:SD:EXP 1 

 8 D422 5112  Decal:Sd/Usb:EXP 1 

 9 D422 1280  Bracket:SD/USB:Main:EXP 1 

 10 D422 1281  Panel:SD:EXP 1 

 11 D422 1284  Bracket:Cover:Left 1 

 12 D422 5000  Cable:USB:700 1 

 13 D422 5020  Discharge Brush:12F:P025:Front 1 

 14 D422 5701  PCB:Fusion:Ass'y 1 

 15 D422 5052  Spring Plate:Base 1 

 16 D422 5030  Gasket:65TSV:Front 1 

 17 D422 5025  Shield Tape:CU10S:Front 1 

 18 D556 5016  SD-Card:PDF:Di-C1.5:EXP:Ass'y 1 

 19 D422 5108  Decal:SD-Card:Operate:EXP 1 

 19 D422 5110  Decal:SD-Card:Operate:Exp2 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0353 0060N Bind Screw - M3x6  

 102 0451 3006N Tapping Screw - 3x6  

 103 0454 3006Q Tapping Screw - M3x6  

 104 0456 3008N Tapping Screw - M3x8  

 105 0450 3010N Tapping Screw - M3x10  

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.Controller Option 1 (D556/..) 



4 

 

 

2.Controller Option 2 (D556/..) 

IEEE 802.11a/g Interface Unit Type J (D377-01/-02)

File Format Converter Type E (D377-04)

Bluetooth Interface Unit Type 3245 (B826-17)

IEEE 1284 Interface Board Type A (B679-17)

IEEE 802.11g Interface Unit Type K (D377-19)

1

6

7

8

9

10 103 101

15

16 103 101

Browser Unit Type E (D430-05/-06/-07)

12 1413

Camera Direct Print Card Type I (D546-21)

4 5

Gigabit Ethernet Type B (D377-21)

10210132

11



5 

 1 B595 5670  PCB Assy - IEEE1284 1 

 2 G178 6033  PCB:Gigaethernet:PCIE 1 

 3 B129 5008  Cap - LAN Connector 1 

 4 GA00 3229 Decal:Pictbridge 1 

 5 D546 5021  SD-Card:P-Bridge:Apatc2.5:EXP:Ass'y 1 

 6 B582 5300  Card Cover 1 

 7 B826 5400  Card - Bluetooth CF 1 

 8 B826 5402  Card Adapter:Bluetooth 1 

 9 B582 5900  PCB:Wireless-Adapter 1 

 10 D377 5521  PCB:W-lan1s:Ext:NA:Ass'y 1 

 10 D377 5522  PCB:W-lan1s:Ext:EU:Ass'y 1 

 11 B234 1574  Keytop:Kino_menu:NA 1 

 11 B234 1580  Keytop:Kino_menu:EU 1 

 12 B223 1533  Keytop:Function:NA 1 

 12 B223 1539  Keytop:Function:EU 1 

 13 B234 1573  Keytop:To_kino:NA 1 

 13 B234 1579  Keytop:To_kino:EU 1 

 14 D430 5005  SD-Card:Browser:08S:NA:Ass'y 1 

 15 D377 5603  PCB:MLB32 1 

 16 D377 5542  PCB:W-lan1s:G-EXT:EU:Ass'y 1 

 101 1607 2060  Ferrite Core:RFC-5 BK  

 102 0451 3006N Tapping Screw - 3x6  

 103 1105 0688  Clamp:KS-15  

 104 1607 1461  Ferrite Core  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

2.Controller Option 2 (D556/..) 



 

 

Parts Index 



8 

D556 5012  SD-Card:IPDS:Di-C1.5:EXP:Ass'y   3 -   1 

D556 5016  SD-Card:PDF:Di-C1.5:EXP:Ass'y   3 -  18 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B129 5008  Cap - LAN Connector   5 -   3 

B223 1533  Keytop:Function:NA   5 -  12 

B223 1539  Keytop:Function:EU   5 -  12 

B234 1573  Keytop:To_kino:NA   5 -  13 

B234 1574  Keytop:Kino_menu:NA   5 -  11 

B234 1579  Keytop:To_kino:EU   5 -  13 

B234 1580  Keytop:Kino_menu:EU   5 -  11 

B582 5300  Card Cover   5 -   6 

B582 5900  PCB:Wireless-Adapter   5 -   9 

B595 5670  PCB Assy - IEEE1284   5 -   1 

B826 5400  Card - Bluetooth CF   5 -   7 

B826 5402  Card Adapter:Bluetooth   5 -   8 

D377 5521  PCB:W-lan1s:Ext:NA:Ass'y   5 -  10 

D377 5522  PCB:W-lan1s:Ext:EU:Ass'y   5 -  10 

D377 5542  PCB:W-lan1s:G-EXT:EU:Ass'y   5 -  16 

D377 5603  PCB:MLB32   5 -  15 

D422 1264  Lens:SD/USB   3 -   2 

D422 1265  Shielding Plate:LED   3 -   3 

D422 1267  Bracket:PCB:Ass'y   3 -   4 

D422 1275  Case:SD/USB:EXP:Ass'y   3 -   5 

D422 1277  Panel:USB:EXP   3 -   6 

D422 1278  Cover:Guard:SD:EXP   3 -   7 

D422 1280  Bracket:SD/USB:Main:EXP   3 -   9 

D422 1281  Panel:SD:EXP   3 -  10 

D422 1284  Bracket:Cover:Left   3 -  11 

D422 5000  Cable:USB:700   3 -  12 

D422 5020  Discharge Brush:12F:P025:Front   3 -  13 

D422 5025  Shield Tape:CU10S:Front   3 -  17 

D422 5030  Gasket:65TSV:Front   3 -  16 

D422 5052  Spring Plate:Base   3 -  15 

D422 5108  Decal:SD-Card:Operate:EXP   3 -  19 

D422 5110  Decal:SD-Card:Operate:Exp2   3 -  19 

D422 5112  Decal:Sd/Usb:EXP   3 -   8 

D422 5701  PCB:Fusion:Ass'y   3 -  14 

D430 5005  SD-Card:Browser:08S:NA:Ass'y   5 -  14 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



9 

D546 5021  SD-Card:P-Bridge:Apatc2.5:EXP:Ass'y   5 -   5 

G178 6033  PCB:Gigaethernet:PCIE   5 -   2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0353 0060N Bind Screw - M3x6   3 - 101 

0450 3010N Tapping Screw - M3x10   3 - 105 

0451 3006N Tapping Screw - 3x6   3 - 102 

0451 3006N Tapping Screw - 3x6   5 - 102 

0454 3006Q Tapping Screw - M3x6   3 - 103 

0456 3008N Tapping Screw - M3x8   3 - 104 

1105 0688  Clamp:KS-15   5 - 103 

1607 1461  Ferrite Core   5 - 104 

1607 2060  Ferrite Core:RFC-5 BK   5 - 101 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.Controller Option 1 (D556/...)
	2.Controller Option 2 (D556/...)
	Parts Index

